Chopler TB-"Day |

Gu 02 Lbmes |
. READ ¥he Provlem.

2. Debne, Vasables, Oraw o Pickhre

3. Wnak are \ou TYing Yo optwwize
\s i+ 0. max or win ?

4. Wrle o ‘Fomu\a.'gr what \ou are
OP\\M\%\ S\mp\a(:\j W to one Vanade,
W nece! Sony .

6. hind e Wktrval over which e 6h¢
Varnade con Van.

b Toke e denvatve, ond find  eikical
Poirts

. Vée '\'Ldrm.qw,s fom CR L + find e
W in Imm



EX! What i the largest possible
Product ou can foym from 2.

Non - neﬂah'm numbers whose Sum
Is 207

let Xy be ow numbe,s ) X20, Y20 |
X+Y=20

Y 4
y=20-x s 170

202x  Xelo20]

We want + max.mige the prduct X-y
X-y=X(20-x) *

e+ F(x) = X(20-x)= 20x-x*
#'(x)= 20-2x = 2(10 -X)
£Ux)=0 when y=/o



We have A ortmuous ﬁnd’tiﬁh over o, |
closed and bounded inteval... vse, €VT! |

£(0)= 0(20-0) = ©
£(10) = 10(20-10) = 100 < Max

£(20) = 20(20-20)= 0 |

largest possible prduct is[loo |

and it 0ctvre when X=(0 and
Y=20-/0 <o



€X' Suppose the product of X and y

IS 3k and byth X and Y e Posihie

What is Hhe. Minimum, Possible Sum
of X and 37 \

R Gnd Y are our numbcrs,)ho, Y70
¥y =36 i

9‘-3;(‘-'- >0 frall X0
Hhus e (0, o)

We want 4, Minind 2, X+y

+y-= 36
X+y x-c-_’.‘.

et F)= x+ 3 = x4 37"

U= 1-3p02- |- 3¢
I-2e .

| = ?i-';'- » x%3, - x=%, o
nterval



Becavse we have an open inkeal , We
ned + vse the 1% denvatue dest

‘P l'x) — -+
—t———F——8on
O T b /:

Min occws at X= b

Min SUm 18 X-fy’ X+3x"

-61'.;.:



fx"ﬁ'nd dhe area of ‘he larges{-
r¢c+an3|e, with one CGorner at fhe Ongm

e opposite corner inthe 1 Quadrant

M e gragh of the Parabola Fix)= -y
and  Sides Parallel +o e aves.

'Gnd Max avea

Az Xy = X(le- x)
-lbx -x>
let £(x) = 1y -3

en £'(x)= 16~ 3"



L£Ux)=0 when 1b-3x*=0
b = 3¢*
6 _ 2

3 X

T\l - X
3
14 =y
V3
fird wieval = were in 15 quadiant!
X20 Y= lo -x'za
e 2 x*
“Yex sl
s xe[o,4]
-v‘i-:‘ not n Interval
'F. Continuous pue o Closed and boumde,f
wetewal = vge €vr |







